| N of associated (recoToSim) looper tracks vs dxy |

[N of associated (recoToSim) tracks vs dxy ]

N of reco track vs dxy

05 =50-15-10 =5 0 5 10 15 20 25

| N of associated (recoToSim) looper tracks vs dz |

5 10 15 20 25

0995 =50-15-10 =5 0

n
I
o
N
LD
—
o —
— N
3
[t} g
o
2
o 8
LO 3
_ g
o
Il s
| 3
[t} 2
9 =
! B
o 2
N g
| °
PP TR FITTTINEPI FTPIEI L 9 2
o B3 = o = AN s
o =) o o . 5
— — — — [=} =
n
I - ~
............... 2 o
=5 ~
=3
5= 19
=3 o
949 —
afal
)
o
e}
[
=] S
—
i g
il Il
1 3|
o 5
N ol
b . . ) g
PR VI PPN WY PRI SYRIPI Y 0 2
2 D < @ o =) ) 5|
o © © © © 3 2 >
- - - - - Ll o Z|




	Contents
	Page 1


